[ Efficiency vs vertpos |

~ 0.8

0.7

efficiency vs vert

0.6%— +

TTT
+

Ratio

=
TTT T T

o
©
a

=
2
N

10 1 10 0?
TP vertr (cr%)

[ fake+duplicates vs vertr

l_

0.8

0.6

fake+duplicates vs. r

0.4

................................................

Ratio

Efficiend

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_mod-127
—+— DQM_TT__mkFit-DQM_mod_updatedmod-127

~ 0.8

o
]

efficiency vs vert
o © © o o o
S T - N SN ¢ B o))
I

&

Ratio

0.95!

10 20 30
TP vert z (cm)

-10 0

~ 0.8

efficiency vs Sim. PV
© o o o o o
N w N [¢)] ) ~l

o
i

Ratio

0.95L

=20

~15 =10

50 5 10 15 20
Sim. PV z (cm)

0.8

0.7

0.6

0.5

fake+duplicates vs. z

0.4

0.3

0.2

0.1

o Of

T 14

[ad L
1.2 -

...i...tl....!....!....!....
...... A s |
____________ :_Bﬂ_fs: Al

-20 -10 0 10 20 30

track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

N 0.
>
8.0.09
£
0.08
20.07
9
©0.06
3
£0.05
L
=0.04
=]
$0.03
(O]

.............................................

...............

Ratio

510 15 20
Sim. PV z (cm)



	Contents
	Page 1


